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@ What is the value of each underlined digit?
6,804 54,312 /43,890 2,403,223

--------------------------------------------------------------------------------------------------------------------------

@ Write each of these amounts in words.

a. £3,208

b. 12,645km

..............................................................................................................................

c. £132,500

------------------------------------------------------------------------------------------------------------------------------

@ Write each amount in a simpler form.
a. 5,000 + 600 + 12 b. 42,000 + 380 c. 124,000 + 76

.....................................................................................................................

..............................................................................................................................

Write each amount in numbers.
a. Twenty six thousand, three hundred and

eighw three. §'::::::::::::::::::::::::::::::::::::::::::'§
b. Four hundred and thirty seven thousand,
two hundred and eighf_ ::::::::::::::::::::::::::::::::::::::::::::::

c. Two million and eighteen.

oooooooooooooooooooooooooooooooooooooooooo

@ I [ wiite one million in numbers, j ———

how many Os will there be?

---------------------------------



@John has £ 12,000 in savings.

Mary has £ 8,000 in savings
and is given another £ 500.

Who has the most in savings?

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

@ How many hundreds are the
same as each amount?

...................................

a. 2,000

...................................

...................................

b. 12,600

...................................

c. 645,000

A couple win £ 14,235,000 on the lottery.

Write that amount in words.

---------------------------------------------------------------------------

----------------------------------------------------------------------------

------------------------------------

------------------------------------------------------------------------------------

@ How many thousands are
the same as each amount?

a. 14,000

.................................

.................................

b. 208,000

---------------------------------

c. /,000,000

---------------------------------

Patrick says that ten lots

of ten thousand is the
same as one hundred
lots of one thousand.

ls he correct?



.
Measuring length

You will need to know how to change
between units, such as kilometres to
metres, for these questions. Make sure
you have a ruler too before starting.

@ Write each of these distances @ A new strefch of motorway
in kilometres (km). needs to be 12km long
s __ but is 1.85km short of
a. 1,450m that length.
b. 12,600m ........................ How much has been built?
S T

3 ) Change each of these amounts from kilometres (km) info metres (m).

a. 1.4km b. 9.46km c. 15.05km

@ What is the length of each crayon to the nearest millimetre (mm)?
Use a ruler.

@ Ruby has to walk one kilometre to school.

Darius lives nearer the school and only has to walk 485 m.

How much further does Ruby have to walk than Darius?



@ Write each amount in centimetres (cm).
a. 48 mm b. 106mm c. 8mm

.................................
.

..................................................................
. o .

@ Which is the best unit to measure each item?

[tem Unit

The distance between London and Cardiff

The length of a caravan

The height of a stool

The length of a fingernail

Which is longer, a kilometre (km) or a mile?

@ Write each amount in The length of a kitchen work surface

millimetres (mm). is usually measured in millimetres (mm).
a.2.6cm What is the length of goch c?f these
T———— : kitchen work surfaces in millimetres?

-----------------------------

b 15 9cm a.2.8m b.425m ¢ 3.5m

.............................

. .
--------------------------------------------------------------------------------------------------------



@ Each of these gardens has to have new turf laid.

What area of turf is needed for each garden?

20m

...................

1S
<

IS
N

@ A security guard has to walk
around the perimeter fence
of a factory once every hour.
The fence is rectangular and

is 850m by 670m.

How far does the guard have
to walk each hour?

@ What is the area of

each square?

1.3m
4.8cm
= I S -
y w
~ 3
4.8cm 1.3m

......................................................

......................................................

@ Which football ground

has the larger area and
by how much?

110m

105m

woZs
w89

The Emirates

(Arsenal)

Fratton Park
(Portsmouth)

@ What is the perimeter of

each rectangle?
37 mm

2.7cm

66 mm

......................................................



@ a. A square has an area of 64
square metfres (m?). What is
the length of each side?

...........................
o .

.
. .
...........................

b. A square has an area of
1 square metre (m?). What
is the length of each side?

---------------------------

---------------------------

@ Look carefully at this shape.
What is its perimeter?

lem

-------------------------

.
uuuuuuuuuuuuuuuuuuuuuuuuu

wo g

4dcm

wo |

3cm

A square has an area of 16 square centimetres (cm?). A rectangle
has the same area. What could the lengths of the sides of the

rectangle be?

-----------------------------------------------------

.....................................................

A school playground is rectangular and measures 80 m by 60m.
In a PE lesson, a class has to run around the perimeter four times.

What distance will the class run?

A restaurant table is square and has sides 3m long. A rectangular
cloth covers part of the table and the cloth is 2.5m by 2m.
What area of the table is not covered by the cloth?

-----------------------------------

. .
ooooooooooooooooooooooooooooooooooo



Write these rows of numbers in order with the smallest first.

a. 276 4109 2,690 12,503

b. 6,000 600 60,000 600,000

c. 7,000,000 699 9909 olelojelele) 6,000,000
@ Write the next two numbers @ A boy's spending

in each sequence.

....................................

800

....................................

a. 400 600

......................................

b. 2,000 1,000 500 :

------------------------------------

c. 40 80

....................................

money is doubled
every day. If the
boy receives 1 p
on Monday,

how much will

he receive the
following Sunday?

-----------------
.

.................

...........................

...........................

a. 1,000,000 100,000 10,000
b. Vs 2 1
c. 25 50 100

------------------------------------------------------



@ This is a wellkknown sequence.

a. Continue the sequence.

] ] 2 3

b. Explain how the sequence works.

@ Homer runs 2 km on Monday,
6km on Tuesday, and 18km
on Wednesday.

If the same sequence
continues, how far

will Homer run
on Thursday?

@ Describe each sequence in a

few words.

a. 25 50 /5 100

------------------------------------------------------------------------

------------------------------------------------------------------------

Write these amounts with the

smallest first.
a. 1.8m 190cm 1,/700mm

----------------------------------------------------------------------

b. 2,400ml 3.81 900ml

......................................................................

A pentagon has five sides.
a. How many sides will
ten pentagons have?

---------------
o

...............

...............

b. How many sides will .
100 pentagons have?
c. How many sides will
1,000 pentagons have?:

.
---------------

---------------

Try and continue this sequence without using a calculafor.

40 20 10

5

.
----------------------------------------------



This table shows the results of a survey in which teenagers
were asked who their favourite pop groups were.

Look at the table and then answer the questions.

Pop group Boys Girls
Sun Patrol 12 7
Arctic Penguins / o)
Take This 2 16
Crimson 5 15 1

@ Which group was preferred

by most teenagers?

@ How many more boys than
girls preferred Sun Patrol?

---------------------------------------------

How many teenagers were
questioned in the survey?

---------------------------------------------

@ Which groups have a difference of 14 between boy

and girl preferences?

----------------------------------------------------------------------

--------------



This chart shows midday and midnight temperatures in degrees Celsius
on a day in August.

Look at the chart and then answer the questions.

Place Midday (°C) Midnight (°C)
Portsmouth 23 14
Penzance 26 12
 Glasgow 18 14
Cardiff 21 15
Norwich 15 10

@ a. Which place had the highest temperature at midday?

b. Which place had the highest temperature at midnight? ...

What was the difference in femperature between

Norwich and Cardiff at midday?

Which place had a difference of six degrees
between midday and midnight?

@ Which place had the

largest change in tfemperature
between midday
and midnight?

Which two places had

the same temperatures
at midnight?



@ Lucy runs 350m to fetch a ball.
Pepper is older and only runs

160m to fetch a ball.

How far have the dogs run
in total?

----------------------------------------

@ For a Spanish holiday,

each child saves up some
money. Barbara saves

£ 136, Ann saves &£ 140,
and Harris saves £ 89.
How much have they
saved altogether?

........................................

@ A school spends £ 1,750

+ /8 + 433 on paper tissues in 2012
and £2,180 in 2013.
.................................... How much doss the schoo
c. 945 spend on tissues in total?
+ 99
(5)a. 3400 b. 4800 c. 7000
+ 2600 + 3200 + 3000

---------------------

-------------------------------------------------------------------------

---------------------------------------------------------------------------------------



@Joke has 186 DVDs. Maria
has 143 more DVDs than Jake.

How many DVDs does
Maria have?

........................................

(7)a. 4231 b, 7904
2886 £ 2107

oooooooooooooooooooooooooooooooooooooooooo

Hasan runs for a charity.

In his first week, Hasan
runs 146 km.

In his second week, Hasan
runs 138km.

In his third week, Hasan
runs 129km.

How far has Hasan run
during the three weeks?

@o. 2345 b, 6789
L1234 + 3456

------------------------------------------

.....................

A teacher works out that he spends 464 hours marking books in his

first year of teaching, 437 hours in his second year, and 488 hours

in his third year.

Over the three years, what is the total number
of hours the teacher has spent marking books?

--------------------------------------------------



@ Who has the most flour
and by how much?

ooooooooooooooooooooooooooooooooooooooooooooooooooo

o o O B o v

2.2kg 2.2kg 2.2kg 2.2kg

by B & oo

700g 700g 700g

@ Danny needs to buy 20kg

of potatoes for a restaurant.

The potatoes come in

2.5kg bags.

How many bags will Danny

need to buy?

oooooooooooooooooooooooooooooooooooooooo

.
----------------------------------------

@ Change each amount to grams (g).

a. 1.6kg

.................................

---------------------------------

---------------------------------

---------------------------------

c. 0.63kg

.................................

@ In 2009, the average weight @ Change each amount to
of @ man was 84 kg and the kilograms (kg).

average weight of a woman

was 69kg.

What is the difference in
average weights?

........................................

---------------------------------

a. 674¢g

.
---------------------------------

---------------------------------

0
---------------------------------

.
---------------------------------




Time filler:
Weigh a packet of biscuits (it does not matter if
they are partly eaten). Write the amount in grams

(g) and then again in kilograms (kg). Weigh some
vegetables and fruits and record these amounts
in grams and then in kilograms, too.

@ Amir puts on 0.45kg weight

after eating a big meal.
Before the meal, Amir

weighed 36.5kg.

How much does Amir
weigh affer the meal?

@ A builder needs 200kg of

sand in order to make cement.

Sand comes in bags of 25kg.

How many bags will the
builder need?

A box of Flakeywheats weighs 860g when full.

A quarter of the box has been used.

How much is left?

@ What weight

is shown on
this scale?

750 ‘T 50
%\\\\\\\\-\l f u‘/%mo

650 33

700

--------------------------

.......................... 600—
550 %

7
500//////// I I I \\.\\\\\\\300

450 400 350

Show this

weight on
the scale.

7 W |
500//////// ] | |‘1‘_\\\\\\\\300

450 400 350




@ Salima’s best friend lives
380km away but another
good friend lives just
36km away.

How much closer is the
nearer friend?

----------------------------------------

----------------------------------------

(2)a 366 b

- 184

--------------------------------------

ooooooooooooooooooo

@Jomo| has to walk 8,000m
each week to try and keep
fit. So far this week, he has
walked 3,750m.

@ Bogdan has £ 1,800 saved up
for a holiday but spends £ 275
on clothes.

How much does Bogdan

How much farther must have left?

he walk?

a. 1000 b. 2500 c. 4200
- 750 - 1800 - 3700

ooooooooooooooooooo

ooooooooooooooooooo

ooooooooooooooooooo



@ How much more is 3,040 than 1,6067

---------------------------

., .
ooooooooooooooooooooooooooo

@ Dariya is going to make a world record by cooking
600 cupcakes in 4 hours. After three hours, Dariya

has cooked 492 cupcakes.

How many cupcakes does Dariya need to cook

in the last hour?

...........................

|/

a. 2003 b. 4030
1745 _ 2607

--------------------------------------

c. 2500
- 10/8

ooooooooooooooooooo

@ The distance between London
Heathrow airport and New York JFK

Airport is 5,546km (3,446 miles).

A plane has travelled 4,023 km
(2,500 miles).

How much farther does the plane have
to travel — in kilometres and miles?

-----------------------------------------------------------------------

Two numbers add up

to 8,000.

One of the numbers
is 2,319. What is the

other number?

----------------------------------------

----------------------------------------



------------------------------------------------



(46) 200 - 145 =
(49) 40 + 50+ 60 =

145
- 46

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

----------------

----------------

.............

. (39)101-3=

-------------

.............

.............

.............

.............

.............




a. The distance between Winchester and London is
Q9 23 km. What is this distance to the nearest km?

b. The distance between London and Mumbai is 4,468.14

miles. VWhat is this distance to the nearest 100 miles?

.....................

.....................

---------------------

ooooooooooooooooooooo

These are the amounts three adults saved for a new car:

Witold — £ 3,480

Krysta — £2,850

Rudo — £ 3,444

How much has each saved to the nearest £ 1007

@ Which of these is closest to
8,000 when rounded to the
nearest 1007

a. /,680 b. 8,290

c. /,/50

What is each amount to the
nearest 1007

.................................

a. £650

b. £1,060

.
---------------------------------

---------------------------------

c. £808

.................................

@ These are the distances of three places from London.

Manchester 201.5 miles
Birmingham 119 miles
Glasgow 405.8 miles

.................................................

-------------------------------------------------

Round each distance to the nearest 10 miles.



@ What is each length to the
nearest 100 m?

.................................

---------------------------------

---------------------------------

.................................

.................................

@ A builder's van is 3.87m long.
What is that length to

a. the nearest 10cm?

---------------------------------

.
ooooooooooooooooooooooooooooooooo

The journey from London

to Winchester is about

61.66 miles.

Estimate the distance from
Winchester to London
and back again fo the
nearest 10 miles.

@ Write each distance to

the nearest kilometre.

---------------------------

a. /,202m

...........................

b. 9,850m

---------------------------

---------------------------

c. 500m

...........................

A plane travels at a constant speed of 290 miles an hour.

Estimate how long it will take to travel 6,000 miles.

..............................................................

--------------------------------------------------------------



@ How many times can each shape match itself
as it rotates to get back to its starting point?

a. b. C.

---------------------------------------

.......................................

@ Ken says this word has reflective symmetry. Is Ken correct?

BAND ....................................

@ Circle the numbers which have more than one line of symmetry.

02345673829

@ Explain why this face does not have a line of symmetry.

--------------------------------------------------------------------------------------------------------------------

....................................................................................................................

a. b. C.

.......................................

.......................................



@ Complete each shape.

@ Draw the line(s) of symmetry on each shape.

a. E b. :
Which shape does not have a line of symmetry?

q. b- | z C'
..............................................

@ Two of these letters have rotational Complete this shape.

symmetry. Which ones are they? !

B S N | e

----------------------------------------------------------



@ Paul gives V1o (onetenth) @ The cost of a new TV is

of each amount to charity. shared between five students.

How much does Paul give

each time? They each pay V5 (onefifth).
e, _ The TV costs £450.

a. £30 :
o How much does each

b. £50 student pay?

c. £100

@ What is /5 (onefifth) of each distance?

a. 25cm b. 15 miles c. 40km

@ Zak is given £40 as a birthday @ What is Y4 (three-quarters)

present but must save %4 of each amount?
(three-quarters) of it.

How much must Zak save? —— ;

ooooooooooooooooooooooooooo

...........................

............................................................

............................................................




@ Oliver begins the day with £ 10. He spends half the money

on fruit and then spends a quarter of what is left on a magazine.

How much money
does Oliver have left?

@ What is 75 (twofifths) of

each amount?

ooooooooooooooooooooooooooooooooooo
o

a. £ 10

-----------------------------------

...................................

b. 60m

...................................

c. 45 miles

...................................

A class has 32 children and

/8 [seven-eighths) of them
have packed lunches. The
others have school lunches.

How many children
have school lunches?

.................................

---------------------------------

@ Which of these fractions is
equivalent to ¥5 (fourifths)?

Q. 8/20

---------------------------------

---------------------------------

2,000 Cup Final tickets are

given to a football club. 710
(seven-fenths) of the tickets are
given to season ficket holders.

How many tickets are not
given to season ticket holders?



@ Each brick has a volume @ This cylinder has
of 2cm3. What is the totall a volume of 1,000cm3.
volume of these bricks? What is the volume if
the cylinder is ¥4 full?

------------------------------------------------------------------

....................................................................

@ A cube has a volume of 8 cm3. How many prr————

cubes would it take to fill a volume of 96cm?3?

. -
--------------------------------------

@ This measuring @ Give a simple example

jug has a of an object for each
capacity of of these amounts, for
500ml. If the example a cup.

jug is Va full,
how much will
it contain?

a. 5ml

------------------------------------------------------------

.............................................................................................

@ A ketile has a maximum volume of 4 litres. The kettle is filled from a jug
which holds 500 ml.

How many jugs of water will be needed to fill the kettle?



@ Anne fills a fish tank with glasses of warm water. The glass holds 300 ml

of water. If the fish tank needs @,000ml of water, how many times will
Anne need to ﬁ” The 9|OSS? ...........................

...........................

The volume of each box is 12cm?. John needs to place

144 cm3 of chocolate in boxes.

--------------------------------------

How many boxes will John need? s

@ Read the scale carefully. How much water is there in each jug?

m;[
[
o
o
S

I Im‘f[‘

1

;Im'i]r

|

- —

..............................................................
. o

.................................

A cylinder can hold 100 litres of gas but is ¥4 empty.

How much gas is still in the cylinder?



@ Sean pays £ 280 monthly for his car.

....................

How much will he pay in six months?

--------------------

--------------------

.
--------------------

@ What is 50 multiplied by eight?

........................................

..........................

@ Work out each multiplication sum.

a. 29 b. 6/
x5 x O

--------------------------

-------------

@ A class of 30 children each bring in four cans

of soup for the Harvest Festival.

How many cans are brought in altogether?



@ Work out each multiplication sum.

a. 150 b. 270 c. 490
x 8 x 10 x @

.......................................

@ Mary works out she has to wait Shen sends 20 texts a day for
exactly eight weeks until the 10 days. Each text costs 10p.
summer holidays begin.

How much do the fexts

How many days will Mary cost Shen?

have to wait?

oooooooooooooooooooooooooooooooooooooooo
....................................................

. .
........................................
....................................................

a. Q b. 19 c. 49
x O x 20 x 50

---------------------------------------




This chart shows how many children in each class went fo the whiteboard
at different times during a day.

Class Morning Afternoon
5W 8 4

6H 0 2

4R 10 /

5P 12 Q

@ What was the total number
of times the whiteboard was

used by 4R?

@ One class did not seem to

use the whiteboard very much,
which one?

@ How many times in fotal were
the whiteboards used in the
morning by the four classes?

@ Only one class used the board

more in the afternoon than the
morning, which one?

@ Which class used the whiteboard four more times in the morning

than the afternoon?




Look at this bar chart and then answer the questions.

Sending texts

20
18
16
14
12
10

8

Texts sent each week

O N N O

Child’s name

@ Who sends the most texts
during the week?

@ Which boy sends the

most texts?

How many texts do the girls

send in total?

Two boys send less texts
than Sue. Which ones?

----------------------------------



@ 60 pieces of fruit are shared equally by five children.

How many pieces of fruit will each child receive?

........................................

........................................

@ Four teachers have to mark 160 books. If they share the marking
equally, how many books will they each mark?

........................................

........................................

a. 48+4= b. 120 - 10=
Cpes. T 1 ap g
@ Answer each question. @ A number divided
s by 8is 8.

a. What is 56 divided by /7

................

e , What is the number?
b. What is 60 divided by 57 :

................

ooooooooooooooooooooooooooooooooooooooooo

c. 54 shared by nine is

.........................................

................

d. 36 shared by six is

................




@ A shopkeeper puts boxes of @ Ali has collected £ 12 in

fissues in piles of four and has 20p pieces.
60 boxes fo put out. How
many piles will he make? How many 20p pieces

does Ali have?

................................................................................

Answer each question.

a. What is the remainder when 23 is divided by 57

-------------------------

. .
.........................

-------------------------

b. What is the remainder when 50 is divided by 127

. .
ooooooooooooooooooooooooo
ooooooooooooooooooooooooo
o .

c. What is the remainder when 18 is divided by /?

.........................

@ Peppermints are put in packs of 20.

....................

a. How many packs will be needed for 200 peppermints?

., .
--------------------

....................

b. How many packs will be needed for 360 peppermints?

....................

Five cars take part in a cross-country rally. They
each cover the same distance. If the total length

of the race is 4,000km, how far does each
car travel?

-------------------------



@ If Christmas Day is on a Tuesday, what day will be New Year's Day?

----------------------------------------------------------------------------------------------------------------------------------------------------------------

@ It takes Nima from 11.18 a.m. to 2.30 p.m. to complefe
a train trip. How long is Nima's trip?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

----------
----------------------------------------------------------------------------------------------------------------------------------

ooooooooooooooooooooooooooooooooooooooooooooo
o .

.............................................

.............................................

@ It takes Gizela Q0 minutes to cycle to work.

If Gizela leaves home at 7.45 in the moming,
what time will she arrive at work?

.................................................

. .
-------------------------------------------------



@ Draw the correct time on each clock face.

a. 4.32 b. 10.15

@ A runner takes 58 seconds to

run 400 m and wins the race.
The person who comes second
takes an extra 14 seconds.

How long does the second person
take in minutes and seconds?

------------------------------------------------------------------------------

a. What is 19:40 on the

twelve-hour clock system?

.......................

b. What is 06:20 on the

twelve-hour clock system?

-----------------------

-----------------------

@ A swimmer swims for
2 hrs 30 mins and starts
outat 11.00 a.m.

What time does he finish?

.................................................

. -
-------------------------------------------------

Callum says 23:59 is the

same time as one minute
to noon.

Is Callum correct?



@ Put these numbers in the correct positions. 4 -2 1 -4

........................................

-3 i i -1 0 i i 2 3

----------------------------------------

@ Write the number which is 5 @ The temperature on a cold

less than each of these. winter's day is 2 °C.
At night, the temperature
a. 12 b. 5 drops by 3 °C.

....................................

What is the temperature
at night?

------------------------------------

------------------------------------------------------

-----
oooooooooooooooooooooooooooooooooooooooooooooooooooooo

----------------------------------------

-5 0 S

----------------------------



@ The temperature in the desert can change greatly between
night and day.
The temperature at night in the Sahara is =9 °C but rises
by 38 °C during the day.

What is the temperature during the day?

. .
---------------------------

-10 o) | L0 J———
CI. What is 6 - 87 b. Whatis 4-107 :

@ How many numbers are there between -8 and 07
-10 0 10 J— !

. .
. .
. .
. .
.....................

How many numbers are there between — 17 and =57

.....................

- 20 0 20



---------------------

---------------------



---------------------




@ Connect each decimal with

its fraction.

0.5 is the same as one-half.
What is 0.5 of each amount?

-------------------------

/s 0.5 a. 20p
]/2 0.75 L oson LT
3/4 0.95 . ]89 .........................

@ Place these decimals on the number line. 0.2, 0./, 0.4

0 | 1
@Comp|ete each sum.
a. 0.4 +03 = b. 1.2 +0.6=

--------------------------------------------

----------------------

......................

0.25 is the same as one-quarter.
What is 0.25 of each amount?

.....
------------------------------------------------------------------



@ Place these decimals on the number line. 1.3, 0.5, 1.9

0 1 2
@ Complete each sum.
a. 23+4.6= b 56+39= E

c. 6.3-12="

0.75 is the same as three-quarters.
What is 0.75 of each amount?

------------------------------------------------------------------

a. 60g | . b. 100km | . ¢ 20p

------------------------------------------------------------------

@ a Whatis 0.8 of 60m? |

.........................

b. What is 0.4 of 30p?

c. Whatis 0.7 of £2.007

-------------------------




Change each amount fo
millilitres (ml).

a. 1.85 litres

b. 0.65 litres

.
ooooooooooooooooooooooooooooooooo

..................................

c. 0.04 litres

---------------------------------

A milk carton contains

3.408 litres of milk when full.

How much milk is there in the
carfon when it is half full?

.
ooooooooooooooooooooooooooooooooooooooooooooooooooooooo

@ In the UK, we sometimes measure liquid in pints instead of litres.

A litre is a bit less than two pints.

Change each amount fo pints (rounded to the nearest whole pint).

a. 5 litres b.

10 litres c. 15 litres

@ This is part of

a scale from a
measuring jug.
What are the

amounts shown
by the arrows?

--------------------------------------------------------------------

.........................

.........................

.........................

b. 2,100ml

.
.........................

c. 12,000ml



@ A bottle of health drink
contains 800g of liquid.

How much liquid will be
held in six bottles?

------------------------------------------------

. .
oooooooooooooooooooooooooooooooooooooooooooooooo

@ A litre is about 1.76 pints.

Change each amount to pints.

a. 3 litres

b. 5 litres

. .
ooooooooooooooooooooooooooooooooo

.................................

c. 10 litres

---------------------------------

A cube has a volume of

125 cubic centimetres (cm?).

What will be the volume of
six cubes?

---------------------------------

---------------------------------

@ A can of drink holds 440 ml.

How much drink will there
be in three cans?
Give the answer in litres.

---------------------------------

---------------------------------

In the UK, we sometimes measure liquids in gallons.

A gallon is about 4.5 litres.

Work out each amount in litres.

a. 4 gallons b. 10 gallons

.................................

c. 0.5 gallons

. .
---------------------------------



How many pennies are there in each amount?

a. £2.50 b. £10.00 c. £12.50

......................................................................................................

.
......................................................................................................

@ Rida pays £49 a month for satellite TV. A
How much will Rida pay over one year?
@ Work out each sum.
a. £6.35+£2.80 =" - b. £0.89+£0.44 =

..............................................

@ In the USA, the currency is dollars ($) and cents (¢). A pound
is worth about $ 1.60. How much is each amount in dollars?

. . . .
------------------------------------------------------------------------------------------------------



@ A driver has to put petrol in
her car. Petrol costs £ 1.44
per litre.

If the lady puts 20 litres in her
car, how much will that cost?

----------------------

@ Work out each sum.

a.£5.00-£2.86 =

....................

b. £3.00-£1.67 =

c. £10.00-£4.18 = :

Three coins add up 1o £ 2.60.

What are the coins? v

@ A father takes four children to a theme park. The entrance fee
for each child is £ 28 and each child has £ 10 to spend.

How much will the father have to pay?

------------------------------------------------------

------------------------------------------------------

The cost of a new house is £ 249,950. The legal fees
are £ 1,850 and the estate agent fees are £ 2,500.

What is the total cost?

------------------------------------------------------



@ Which of these angles are acute?

a. b. c.  300°

70° 100°

..............................

@ What is the size of the missing angle?
50° b. N18°

a.

--------------------------------------------

............................................

@ a. Draw an angle of 30°. b. Draw an angle of 72°.

@ How many degrees are there in each of the following?
a. A full turn b. A quarter turn c. A half turn

..................................................................

..................................................................

@ Two angles add up to 180°. One of the : :
angles is 45°. What is the other angle? H



@ Which of these angles are obtuse?

\o Lo ==

@ Carefully measure each angle.

----------------
.

\/\/hoT are the missing angles?

................

@ Which of these angles

are reflex?

----------------------
.

.
oooooooooooooooooooooo

.
----------------------



Two numbers added together make a total of 640.
One of the numbers is 175. What is the other number?

B .
................................

@ A junior school has 240 children. A quarter of the children

are in Year 3. How many children are not in Year 37

................................
o .

@ IF Homer eats ten doughnuts for breakfast and twice as many
for lunch, how many doughnuts will Homer have eaten in total?

--------------------------------

................................

@Joson spends £ 38.65 on a birthday present for Kylie and pays

with a £ 50 note. How much change will Jason receive?

................................

@ Out of 80 tomatoes, onefifth are rotten.

How many tomatoes are not rotten”?



@ It costs Clara 10p each time she sends a text. It Clara
spends £7.30 on texts, how many will she have sent?

--------------------------------

@ Bart earns £ 3.50 an hour working for Marge. If Bart

works for eight hours, how much will he earn?

................................

..................................

4 Q 16 25 36

@ Multiply the number of days in a week by the number of hours
in a day and add the number of seconds in a minute.

................................

The population of a small town is 12,840,
One-tenth of the population is aged 5 or under.

How many people are more than 5 years old?



This diagram shows the results when children were asked about the fruits
they liked. look at the diagram and then answer the questions.

Favourite fruit

Apples

Bananas

Oranges

@ HOW many Ch”dren On|y ||ke OppleS? ..................

@ How many Ch”dren were OSked ObOUT ]EFUH'S I’I’]ey ||ke? ..................

@ How many children like both apples and oranges? ~ §

@ Which fruit was liked by the most children?

@ How many children like all three fruis?

..................



Look at this diagram and then answer the questions.

Types of numbers Multiples of 3 Multiples of 5
Q 15 2] 15 25 45
Odd numbers
3 27 39 35 105 85
6 12 24 20 50 100
Even numbers
18 30 60 80 30 /0

@ Which is the largest number which is even and

a multiple of 37

..................

@ Which is the smallest number which is odd and

a multiple of 57?

What do you notice about the odd numbers which are multiples of 5?

@ Put /2 in the correct area.

Which even multiple of 5 is also a multiple of 37

oooooooooooooooooo



@ What is the probability the

die will land on 67?

........................................

@ What is the probability the

die will not land on 6?

@ Ten people enfer a competition but only one can win.

What are the chances of winning?

-------------------------------------------------------------------
o

-------------------------------------------------------------------

ooooooooooooo

-------------

@ Fight people enfer a competition for two prizes.

What are the chances of winning a prize?

...................................................................

@ A bag contains four red pastilles and four green pastilles. A girl
closes her eyes and chooses one pastille from the bag.

What is the likelihood she will choose a green pastille?



@ Mark on the line where you think each event should go.

Impossible Unlikely Even Likely Certain
° o ® o @

a. It will snow in England in May.  b. It will be cold in the Antarctic.

@ A box contains six coloured balls. Two balls are red, two are green,
and two are blue.

a. A child closes his eyes and takes out a ball. What is the chance
the ball will be red?

b. The ball is put back in the box. Another child takes out a ball. What

is the chance the ball will not be green?

Place each event on the line.

0 0.25 0.5 0.75 1
@ @ & 3

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

a. The chance of a tossed coin landing on heads.
b. The chance of the Atlantic Ocean freezing over.

@ Make up two events of your own to go on this line
and mark their positions.

Impossible Unlikely Even Likely Certain

The chances of winning the main prize in the National lottery are
about 14,000,000 to one. How would you describe that chance?

------------------------------------------------------------------------------------------------



@ A car travels at 7O mph on the motorway
for three hours.

---------------------------------------
.

How far will the car travel?

@ A cyclist keeps the same speed for 15 minutes
and travels 4km.

.......................................

What is the speed of the cyclist in km per hour?

@ A man can walk at a steady pace of four miles per hour.
How long will it take the man to

a. walk 20 miles? b. walk one mile?

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
o . o .

..............................................................................

@ A cyclist travels 15km in an hour. A motorcyclist
covers twice the distance in half the time.

---------------------------------------

What is the speed of the motorcyclist?

---------------------------------------

@ One child walks 200 m in two minutes.
Another child walks 500 m in five
minutes. Which child is faster?

--------------------------------------------------------------------------------------------------------------



@ IF an aeroplane can travel at 380mph,

how far will it travel in seven hours?

......................................................

@ A charity walker does an average distance of 20 miles
a day and walks for eight hours each day.

What is the walker's speed in miles per hour?

If a car travels at ©Omph, how far does

it travel each minute?

ooooooooooooooooooooooooooooooooooooooo
D .

.......................................

@ A French train travels at T60km per hour.

How far does the train travel in 15 minutes?

.......................................

During a race, a motorcyclist fravels 4 km in two minutes.
What is the speed of the motorcyclist?



This table shows the number of questions children correctly answered
in a short test.

Correct answers 5 correct 4 correct 3 correct 2 correct

1 correct

Number of children 6 8 5 4

2

@ What was the most frequent number of correct answers?

---------------------------

...........................

...........................

---------------------------




@ What is the mean value of each group?

qa. 2 / 12

b. 20 6 10 24

---------------------

.....................

@ What is the median of each group?
a 3 6 2 1 1 8 4

b. 18 2/ 19 23 30

---------------------

---------------------

.....................

What is the mode of each group?

---------------------

.....................

@ Olly has 36 p and Katie has 44 p. What is

the mean amount they have?

Five children bake cupcakes for a charity sale.

The children make a total of £ 60 for the charity.

What is the mean amount made by each child?

...........................

...........................



@ Which of these fractions is not equivalent to V4?

7% %0 s %0

..................

..................

@ Which of these fractions is equivalent to /5?

250 s 35 19500

..................

..................

..........................................................................
o . o .

..........................................................................

@ Part of these fractions equivalent to %5 are filled in.
What are the missing numbers?

------------------------------------------------------

Yoo % T

.....
......................................................

All these fractions are equivalent to a simpler fraction.
What is the simpler fraction?

12/ 8 24/36 2040 200300

.....................................



@ Which of these fractions is not equivalent to ¥57?

3%s50 250 1840 ik

@ Which of these fractions is equivalent to 710?

[S%% 7hoo 280 42/600

..................

------------------

--------------------------------------------------------------
. .

. 3
--------------------------------------------------------------

Part of these fractions equivalent to %5 are filled in.
What are the missing numbers?

....................................

..................

. ., .
------------------------------------------------------

All these fractions are equivalent to a simpler fraction.
What is the simpler fraction?

40/ 60 2080 %48 e

---------------------------
.
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0 ] 2 3 4 5 o} 7 8
@ What are the coordinates of A and B? A= B=

. . .
..........................................

@ a. Mark (0,5) with a cross on the grid and label it G.

b. Mark (8,0) with a cross on the grid and label it H.

..........................................

@ What are the coordinates of C and D? C= . D=

------------------------------------------

---------------------------

What are the coordinates of the
point half way between F and H?

---------------------------

..........................................

@ What are the coordinates of E and F?  E= F=

------------------------------------------



8 @ Mark and label these points on
S the grid and join them up.

Aat(l,1)

, B B SRS e : H ---.z;::f:: B at(1,4)

S| Cals

TR RS (R G A e et i) (s Dat(4,1)

..........................................................................................

Mark and label these points on the grid.

Eat(1.50)  Fat{5.50) Gat(/,2.5] Hat(3,3.5)

@ Mark and label these points on the grid.

| at (2.5,6.5) Jat(4.5,1.5)

...........................

---------------------------






(48)71 - 36 =

-------------

. .
ooooooooooooo

.............

-------------

-------------

. .
-------------

-------------

.............

-------------

-------------

ooooooooooooo

.............

.............

-------------

.............

-------------



